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(HINT - SHEET)

SUBJECT : PHYSICS 3. Ans(2)
le| = L(AI/At) = 8 =
( SECTION-A )
Lx — =L=-=02H
1. Ans(2) 0.05 >
o i, T 4.  Ans(4)
V3MKT " AHe my, Ty, E=BxC=2x10"x3x10%=60 V/m
_ [ D7Fa’_ [4xAH0 _ 8 GIE B
V27 271273~ V2x300 V3 ’
2. Ans(2) So, Ey =60 sin (0.5 x 10°x — 1.5 x 10"t) V/m
M =1A
5. Ans(4)
M =1 x nR?
Transistor as an amplifier
2BR
Mol < Rp
B:—::;I: Vout:B _XVin
2R Ho Rlz 103
2 = 100 x 1><—103 X Vi
X
2BR
So, M = X TR2 Vi, =10 mV
Ho
o o HS-1/7
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6.

10.

11.

HS-2/7

Ans (2)
P,

Lo
-
-
-
-
L
L

I, = 7005245O = —
I
I;= Tocosz45O = —

Ans(1)
S;:S,:85:8,
=1:3:5:7

Ans(1)
Power of combination
P =P + P,

100 100
" T
=25-4
=-1.5D

Ans (1)

Due to high viscosity lubricant can move in

stream line at high speed as its critical speed

becomes high.

Ans(1)
72
Ex —
n2

12.

13.

14.

15.

16.

17.

18.

19.

Ans (3)
We know that at mean position (x = 0) KE will
be maximum and TE is always % é—%kAz
2
Ans (3)
Action reaction forces are applied by different

objects on each other.

Ans (3)

e‘o—)@ (towards +3q)
a
Ans (1)
1 Ilmv 1,
P R
3 5 4.2
4mV2—kx
3 mv?
1,0 g
Ans (3)
A A+B =AB=AB
T e
B —

B fr—
y=AB
y=AB

AND Gate
Ans (1)

For a good conductor, the graph between
voltage and current does not obey exactly
ohm's law, it shows some deviation from
straight line.

Ans (3)

Orange — 3, yellow — 4, green — 5
Ans (3)

1
Magnetic potential energy = ELI 2

1
=25 = 5L(5)2 =L=2H




= MOCK TEST-1
20. Ans(1) 28. Ans(4)
[V-b]= L= [b]=[V]= L’ Here the activity of the radioactive sample
22. Ans(1) reduces to half in 140 days. Therefore, the half
%>y, >4, . Here threshold wavelength > 2. . life of the sample is 140 days. 280 days is it's
two half lives. So before two half lives it's
23. Ans(2) Piteh activity was (22 x present activity).
1c .. .. 2
= ~ Initial activity = 27 x 6000 = 24000 dps.
No. of division fHat acivity * ps
-3 29. Ans(2)
5x100= 2
N K, +K,=2400 = P, =P,
N =200
\/2K1m2 = \/2K2m2
24 ADS(3) t or &—g—i
n—n Kz mi 1
Solving these two equations we get K, =
Light Kinetic energy of smaller part = 1800 :-
30. Ans(3)
c C
p = . > Vy = E (1) Potential at r < R is same as that on surface.
m
Velocity = 32. Ans(2)
i 2 1
d1sp12{cement _ t v A2 ZmR?> = =m,R?
time time 5 2
M=) 0
c t : nt my 4
— = = = time = —
n time (¢ 33. Ans(2)
26. Ans(2) So, torque = 10 x 0.5 =5 N-m
PV* = constant (Polytropic process)
Heat capacity in polytropic process is given by
R
c—cv+ o]
I —x
Given that PV> = constant
> x=3 ..(D) 10N
_ _ 34. Ans(4)
also gas is monoatomic so Cy = ER +(2) If we assume the earth as a sphere of uniform
by for;nula R 3 R density, then it can be treated as point mass
C= §R+ 1-3 ER_ 5= R placed at its centre. In this case acceleration
27. Ans(2) due to gravity g = 0, at the centre. It is not so, if

() AV =A,V,

(10) (V1) =(20) (2)
V,=4m/s

1 1
(D) P+ 5pVi* =Pyt 2pVy’

1 1
Py + 5(600) (4)> = 6000 + 5 (600) )
P, = 2400 Pa

the earth is considered as a sphere of non-
uniform density, in that case value of g will be
different at different points and cannot be zero

at any point.

. HS-3/7
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( SECTION-B
36. Ans(4)
1 1
Active fraction at instant t,, ==
2t2/ T2 3
. . . 1 2
Active fraction at instant t;, ——— = —
2t/Tip 3
t2/Tip2 bt
2 =2 =2"p =2
2t1/ T
= tz - tl = T1/2 =50 days
37. Ans(4)
8x4 8 8 8412
=3 3=
12 3 3 3
20 240
26— o 16=—
o3 oloT g
38. Ans(4)
oNIR?
2(r2 + R2)*?
R2
If r >> R then — <<< 1 (negligible)
T
NIR? NIR?
~ Ko ~ Ho 5B, x —
2(r2)*? 2r3 r3
39. Ans(1)
First diode is in reverse biasing it acts on open
circuit hence no current flows.
40. Ans(1)
Suppose distance of closest approach is r, and
according to energy conservation applied for
elementary charge.
Energy at the time of projection = Energy at
the distance of closest approach
1 2 1 (Ze) - C
= —mv~ = . r =
2 47eg r
Ze?
2neomv?
41. Ans(1)
Object is at rest so x does not change.
42. Ans(2)
Vi 480
e o =200
ms;

HS-4/1

43.

45.

46.

47.

49.

50.

Ans (2)

On liquid force due to surface tension = (2nR)
TcosO¢

In equilibrium : force due to S.T = weight of
rise liquid
(2aR)TcosOc =W
W,  4n(2R)°T
Wi 47R2T
Ans (4)
V=1fL=3x10°=9x 10"

=4 1W,=4W,=4W

> )A= % x 107 °Hz

AD

1
=" =51x10°=
b d

—x107° x
3
:>d:§><10_3m

Ans (2)
P = Vims Itms cos ¢
1

T
cosd)—cos?—z

100 100 51
— x—x 107 x =
V2 V2 2
Ans (

=25W

3)
40
60

% X = 40
vV 5
5

=

I g pum
Req.

Ans (1)

=1 amp.

5
Forx=5,y=4sin <%> cos(96mt)

= 2+/3 cos(96mt)
So, y will be maximum when cos (96nt) = max
=1

Ymax = 2V/3cm at x =35

Ans (4)
—Zn,/ g:>gocET -2
AT
A 2
E T

=1+202)=5%
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SUBJECT : CHEMISTRY

(

SECTION-A

)

S1.

52.

53.

54.

335.

56.

57.

58.

Ans (2)

NH; — e rich hydride
B,H¢ — e deficient hydride
NaH — Saline hydride

SiH4 — e precise hydride

Ans(2)
NH; = Intermolecular H-bond.

Ans (3)
108 = Unniloctium

Ans(1)

Red P = exist in polymeric form

= Very less reactive so does not glow in dark
= Insoluble in both CS, and H,O

White P = exist in descrete P, unit

= More reactive and glows in dark

= Soluble in CS, but in soluble in water

Ans (3)
BeH,(s), Be,Hy, BoHg = 3C — 2¢ bond present
BeCl,(s) = 3C — 4e bond present

Ans (3)

B, BO=1 B....m....B
H,  totale” =1=B.0=0.5
N{z = 16 ¢ = unpaired e = 2 =
paramagnetic

Be, = total e = 8, BO = 0 = so does not exist

Ans (2)

Statement is incorrect as oxo salt of alkali
metals such carbonates, sulphates etc are highly
stable.

Ans (2)

Yb (Z = 70) — 4£'* 5d° 6s°
Gd = (Z=64) 4f 5d' 6s°
Pm = (Z=61) 4f° 5d° 6s°
Pa= (Z=91) 5> 6d' 75>

59.

60.

62.

63.

64.

65.

66.

68.

Ans (3)

Mg = used flash powder and bulbs
Ca = removing air from vaccum tubes
Be = Used in manufactur of alloys

Ra = treatment of cancer

Ans (3)

1

A()O(

abs
As CN > NH; > H,0 (4)
Therefore CN < NH3 < HZO O"absorbed)

Ans (3)
M =

N solute

x 1000

Volume of solution (ml)

2 =

x 1000 = [V =500 ml]
(mt)

Ans (3)

3A% +2D - 2D +3A

E°cen = E°pjp™® — By a2 =-2-(0.28)
=-228V

Reaction doesn't procceds
Ans (3)
Volume remains constant.
Ans (3)

nycl . IM x 0.1L
2 2

Moles of MgCO; req. =

=0.05 mol
pure) =0.05x84 g=42g¢g

WM gCO3 (

42
% purity = 6—gg % 100 = 70%

Ans (4)

Ea 1
log K =log A~ (2.303R ) T

Ans (2)
1=x 2x
Total moles of equilibrium = 1 + x
2
2x
( 1+x P) 1
———— =025 |x= =
1—x P 3
( 1+x )

So % dissociation = 33.33%

g)

Ky =

. HS-5/1
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69.

70.

71.

78.

79.

80.

Ans (2)

at constant pressure
Vi 'V,
T T
1000 %)
500 300
Ans (3)
Reduction potential of Hydrogen
2H " +2¢~ — H,

. [V = 600m]

0.059 1
E =ES% - lo
RP RP ) g H +]2

0.059 1
=0- Tlog 10—_2 = —0.059V
Ans (4)

1,12

rH — 0.529 X 71&

2
—uszax%—uszsﬁ 2r

FL = 0.529 x —A— 20 8-2
Ans (1)
03/H,0

CH; -C=C-CH3; —— 2CH;COOH

Ans (3)

D

COOH COO°NH, CONH, CN
NH P,O
3, _4, 2275,
Ans (3)
Mg
— Cl — Et — MgCl
(CH3),CH—OH

— S, Et—H orC,H,

SECTION-B
86. Ans(4)
[Co(NH;)4] [Co(ONO)]
Hexaammine cobalt (III)  hexanitrito-O
cobaltate (III)
87. Ans(4)

HS-6/7 .

F, has lower bond dissociation energy due to
larger Ip — Ip repulsion due to small size of

fluorine

88.

89.

90.

93.

9s.

96.

97.

99.

Ans (3)

ICL; = linear
SO, = Bent
SnCl, = Bent
XeF, = linear
Ans (2)

Siderite = FeCO,
Cuprite = Cu,O
Zincite = ZnO

Sphalerite = ZnS
Ans (4)

K,MnO,

Electrolytic
oxidation

Ans (2)
KOH + HCOOH — HCOOK + H,O

0.01 mol
1L

HCOOK — salt of wA & SB

[HCOOK] = =001 M

pH = (p +p"* +1log C)
Ans(1)

AO AO AO
AV 2 3 ®

20min ' 20min I 20min .

Ans (4)
CH3—(|f—CH3 (0—H)
Ans (4)
Addition polymer
Ans (3)

Oxymercuration reaction
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e MOCK TEST-1
SUBJECT : BOTANY 135. Ans(2)
NCERT XI Pg. No # 6
[ SECTION-A )
( SECTION-B ]
107. Ans(2)
NCERT XII Pg.#102 138. Ans(4)
NCERT XII Pg.# 99
108. Ans(1)
NCERT XII Pg #115 139. Ans(4)
NCERT XI, Pg. # 216, 220
109. Ans(4)
NCERT XII Pg.#118 145. Ans(2)
NCERT XII Pg #26,27
116. Ans(2)
NCERT XI" Pg.#247 150. Ans(4)
NCERT XII Pg. No #30-31
117. Ans(3)
NCERT X1 Pg.#252 SUBJECT : ZOOLOGY
118. Ans(1) ( SECTION-A )
NCERT XI'" Pg.#243
121. Ans(4) o ﬁl(ljsE(R‘tF)P No.288
NCERT-XI" Pg # 216, 220 ELO:
124, Ans(1) 152. Ans(2)
. S
NCERT Pg. No.275
NCERT XI Pg. # 19
126, Aus(2) 153. Ans(3)
NCERT XI Pe#3s NCERT Pg. No.275
127. Ans(2) 171. Ans(3)
’ NCERT Pg.#105
NCERT XI Pg.#67,68,69,70
172. Ans (2
128. Ans(2) ! NCSE(RT)P #107
NCERT XI Pg.#72 &
129. Ans(3) 173‘ QZSEST)P #97
NCERT XI Pg.#73,74,75 &
133. Ans(4) ( SECTION-B ]
NCERT XI Pg # 24 (E); 25(H) 186. Ans(2)

NCERT Pg. No.303, 304, 305

. HS-7/1




